

Phase 3 MP

## PROJECT PROPOSAL

**Project:** City of Spring Lake Park Phase 3

**Contact:** Wanda Brown **Salesperson:** Brad Bruhn

Designer: Barb Perry / Madelyn Mitchell

System: Global / ABF / AllSeating / Dauphin / Safco / Gibraltar / OTG

Date: October 4, 2024

# PRODUCT SPECIFICATIONS

Qty.	<u>Description</u>	Unit Price	Total Price
12	Herman Miller Everywhere Table 30 x 60" Flip Top Table Top  - Base Model #: <i>CH5056</i> (2 per table)  - Top Finish: <i>Standard Finish - TBD</i> - Base Finish: <i>Standard Finish - TBD</i>	583.11	6,997.32
52	Global Sidero Side Chair, Armchair (stack 8 high on dolly)  - Model #: 6902  - Glides: Non-Marking  - Frame Finish: TBD  - Back & Seat Fabric: Grade 1, TBD	338.10	17,581.20
6	Global Chair Dolly - Model #: 2125WS - Finish: Black	207.92	1,247.52
Phase 3 Train	ning		
Qty.	<u>Description</u>	<u>Unit Price</u>	Total Price
18	Herman Miller Everywhere Table 24 x 72" Flip Top Table - Base Model #: <i>CH5054</i> (2 per table) - Top Finish: <i>Standard Finish - TBD</i> - Base Finish: <i>Standard Finish - TBD</i>	397.44	7,153.92
9	Humanscale NeatTech Mini Wire Management - Model #: NTIMGG - Finish: Standard Finish - TBD	77.66	698.94
Phase 3 Con	f 131		
Qty.	Description	<u>Unit Price</u>	Total Price
12	AllSeating Zip Task Chair  - Model #: 92140-CA-P1-SS-KD-AS-FV-URWIN  - Features: Midback, Synchro Tilt, Conference Arm  - Casters: Carpet  - Frame Finish: Black	618.30	7,419.60
	- Back & Seat Fabric: <i>Grade 6 TBD</i>		
2	Global Oasis Mini B DaisyLink, 15" Trough with 4 Receptacles and 3 Telecom Plate - Model #: <i>OAM-B-PC-4-1-S</i> - Finish: <i>Silver</i>	961.86	1,923.72
6	Global Telecom Plates (blank) - Model #: A-GR - Finish: Grey	12.42	74.52
1	Global 67" Female to Male Daisylink, Interconnecting Cables - Model #: 42FM-63	78.20	78.20

1	Global 72" Multi-Circuit Hardwire Power Infeed 2 Circuits up to 20 AMPS per C - Model #: 42SB2-72	Circuit 72.68	72.68
	- Finish: Silver		
1	Global 65" Female to Female Daisylink Interconnecting Cables - Model #: 42FF-63	74.98	74.98
1	- Finish: Silver	1 026 04	1.026.04
1	Global 24 x 72" Storage Cabinet Credenza 2 Storage Cabinets Side By Side, Loc - Model #: Z2472SCSC - Pull Style: P-Bar Handle Silver	king 1,036.84	1,036.84
	- Finish: Standard Finish - TBD		
1	Global 48 x 168 x 30" Boat Shaped Boardroom Table - Model #: <i>Z48168BE</i>	3,581.10	3,581.10
	- Features: 3 Bases with Wire Access Doors and Wire Concealment Between Bo	ises	
	- Power: Left and Right Oasis Cut-Outs		
	- Inner Base Trim: <i>TBD</i> - Finish: <i>TBD</i>		
Phase 3 Cou			
Qty.	<u>Description</u>	Unit Price	Total Price
7	AllSeating Zip Task Chair	720.90	5,046.30
·	- Model #: 92140-CA-P1-SS-KD-AS-FV-URWIN		2,010.00
	- Features: Highback, Synchro Tilt, Conference Arm		
	- Casters: <u>TBD</u>		
	- Frame Finish: Standard Finish TBD	2	
	- Back & Seat Fabric: <i>Grade 6 TBD</i>		
35	Global Sidero Side Chair, Armless (stacks 8 high on dolly) - Model #: 6901	244.26	8,549.10
	- Model #: 0901 - Glides: Non-Marking Glide		
	- Frame Finish: Black		
	- Back & Seat Fabric: <i>Grade 1</i> TBD	'\ '\	
4	Global Chair Dolly	207.92	831.68
	- Model #: 2125WS		_
	- Finish: <u>Black</u>		
	Herman Miller Pricing per Contract # 144482		
	State Contract Release F-464(5)	Product Subtotal:	62,367.62
	Global Pricing per U of M Contract U42.112	=	<u> </u>
	Humanscale Pricing per E&I Contract #CNR01511		
Non-Contra			
Phase 3 Atri			
Qty.	Description	<u>Unit Price</u>	Total Price
3	ABF 36" Round Table Top mounted on Gibraltar DuraCast Flip Top Base - Base Model #: <i>C5333</i> - Top Finish: <i>Standard Finish - TBD</i>	560.92	1,682.76
	- Base Finish: Standard Finish - TBD		
1	Safco Sled Base Stacking Chair Cart - Model #: 4190SL	139.86	139.86
	- Finish: Black		
12	Safco Arcozi Chair (stacks 6 high)	139.86	1,678.32

- Model #: ASC2P - Frame Finish: TBD - Back Finish: TBD - Seat Finish: TBD

Phase 3 MP			
Qty.	<u>Description</u>	Unit Price	Total Price
7	ABF 42" Round Flip Top Table on Gibraltar Base  - Base Model #: C5334 (1 per table)  - Top Finish: Standard Finish - TBD  - Base Finish: Standard Finish - TBD	645.66	4,519.62
Phase 3 Train	ing		
Qty.	<u>Description</u>	Unit Price	Total Price
5 (10 total)	Safco Valore Nesting Chair, Mesh Back, Upholstered Seat, Fixed Arms, 2 per carton  - Model #: TSH1F  - Features: flip seat, loop arm, high back  - Casters: Dual Hooded Carpet  - Frame Finish: Chrome legs; Arm: TBD  - Back Mesh: TBD  - Seat Fabric: TBD	902.88	4,514.40
4 (8 total)	Safco Valore Nesting Chair, Mesh Back, Upholstered Seat, Armless, 2 per carton  - Model #: TSH2F  - Features: flip seat, armless, high back  - Casters: Dual Hooded Carpet  - Frame Finish: Chrome legs; Arm: TBD  - Back Fabric: TBD  - Seat Fabric: TBD	874.80	3,499.20
9	Humanscale NeatHub Charging Station - Model #: NHINAPPCAW - Finish: White	112.14	1,009.26
9	Humanscale NeatLinks Slim - Model #: NL1SL21G - Finish: Gray	15.64 _	140.76
	Non-Contract Pro	duct Subtotal: =	17,184.18
Loc	ation:		
Inst	all & Service Costs:		
11150	Regular Hours, Non-Prevailing Wage Installation Delivery, Non-State Contract Design		2,672.00 350.00 510.00
<b>NOTE:</b> -Quote V	Serv	vices Subtotal: =	3,532.00
	S Gibi	Product Total: Services Total: raltar Freight: nscale Freight:	<b>79,551.80 4,422.00</b> 1,349.00 27.96
	PROJ	ECT TOTAL:	85,350.76
		<del>-</del>	

Applicable Sales Taxes will be added at time of invoicing.
Pricing Subject to Unannounced Tariff Surcharges.



6533 Flying Cloud Drive, Suite 800 Eden Prairie, MN 55344 (952) 937-7688 Fax (952) 937-7691

## **TERMS & CONDITIONS**

#### **FINISHES:**

Fabric, Laminate & Paint: Standard selections included in pricing, unless noted otherwise. (Customer Choice from ABF selection).

\*Please note: Many commercial fabrics are subject to what is termed *moisture regain*. This is a process by which the fibers within a particular fabric absorb moisture from the surrounding environment resulting in temporary relaxing (or sagging) of a fabric's appearance. This sagging is not the result of misapplication, but rather the fabric's natural reaction to fluctuations in ambient humidity levels.

#### **PRODUCT:**

- \*Pricing valid for 30 days from proposal date.
- \*Pricing subject to unforeseen manufacturer imposed tariffs, price changes, and fuel surcharges
- \*Products quoted are based upon most current field dimensions available. ABF will attempt to verify field dimensions as construction progress and circumstances allow. Should it be necessary to place orders prior to the availability of verified field dimensions, customer may be responsible for associated costs.
- \*All sales are final. Unwanted product ay not be returnable, or subject to re-stock charges.
- \*Charges may be applicable should storage of purchased product be necessary beyond initially scheduled timeframes.

## **LABOR & EQUIPMENT:**

- \*ABF will be responsible for supplying all necessary labor & equipment to perform the installation.
- \*Labor is quoted as non-union labor.
- \*Labor is quoted for regular working hours (Monday-Friday; 8:00 A.M. 5:00 P.M.).
- \*Customer will be responsible to have all miscellaneous items cleared out prior to installation.
- \*Delays created by customer or other contractors may create additional labor charges.
- \*Labor is quoted as a one phase project. (split dates will require additional charges).
- \*Install and delivery quote is based on first floor delivery and install with clear access without steps.

## **ELECTRICAL:**

\*Customer will be responsible to have a qualified electrician to perform all electrical connections including hardwiring, panel-to-panel and receptacles.

#### **TERMS:**

Net 15 days unless other arrangements made with Seller. A 50% deposit may also apply. Buyer understands and agrees to pay a service charge of 1.33% per month (16% per annum) after 15 days of receipt of goods. Buyer further agrees to pay ALL costs of reasonable collections and attorneys fees. Buyer acknowledges Seller's retention and hereby grants to Seller a purchase money security interest in all merchandise purchased or described herein unless and until Seller receives payments as described above. Buyer agrees to execute a standard UCC Financing Statement to perfect any such security interest. In the event Buyer fails to execute UCC financing statement, this Sales Agreement shall suffice and may be filed by Seller to perfect the security interest.

Signature:	
Title _	
Date:	